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RUSH EA:I RE |ZFE|BES|B#H| v—K]| ag | TD
1| WA%EX | AMKZE 4 20 65 530 8.15 6
2| HHER | EREER 3 1 33 216| 6.55 5
3| HBEM | ABXKK 4| 26 40 153] 383 1
4| HAME | BEBKE 3 4 26 150 577 2
5| MNE%E | EEXE 3 21 27 116] 430 0
6| EAEE | BEKE 3 2 24 109] 454 0
7| FRREE | #BEKE 4 5 34 102] 3.00 1
8| HBiG#LIE | EmFk 4| 32 28 102] 364 0
9| MIER |EBEKXZE 2| 28 18 85| 472 0
10| BH/HTE | EEXE 4 14 18 72| 400 0
1HEFHI0FUL
PASS £} RE | 2FE|(HBES| A% | B | ¥—F | TD [ INT | Rating
1| 55— |[AMKZE 2 9 31 14| 287 4/ 1| 159.06
2| BEAREHL | ABXKK 4 3 65 34 423 3| 4| 109.90
3| IMFRAE | BREKE 4 12| 83 39| 460 3| 3 9824
4 BEHRTE | EEXE 4 14 58 24 242 2| 3| 7746
5| #AME | BEKE 3 4 56 32 180 o 3] 7343
6| WERE | ERFER 3 1 51 21 186| o 4] 56.13
RECEIVE EA1] XE |ZFE|(BES|B#H| v—FK| avg | TD
1| WEEX [ ABXX 4 30 12 171| 14.25 2
2| FHEE | AMKE 4 19 9 219| 24.33 2
3] BHR | BREXE 3 4 9 117| 13.00 0
4| BHEER | ABXK 4 8 9 113| 1256 0
5| FREAE | ABKK 4| 87 9 77| 856 1
6| JIFHE | EEXRE 4| 24 9 72| 800 1
7| JNFHEX | EEFER 2 4 9 65 7.22 0
8| BKEKX |&BREXZE 4 19 8 177| 2213 2
9| IMMEER | EEXZE 3| 47 8 90| 11.25 0
10| EMRNE | BEAKE 4 10 8 65| 8.13 0
INT E0) R¥ |ZE|BS|EH|v—F| T
1| WMAXE | AMKFE 3 8 4 19
2| WRKHE | BRAHKE 3 22 3 16
3| MEREE | EEXE 4| 81 2 28
14 1
QBHwY E0) R¥ |ZE|BS|BH | v—F
1| BNRE | EBE%FE 3| 72 4 27
2| BARE | AMKE 4] 59 3 31
3| MAKRKE | AMKZE 3 8 3 13
3| BREKX | AMKE 3| 51 3 13
5| Bk | BAEFR 3| 51 2 12
9% 1
KICK E2X:01 R¥ |PE|ES| G
1| FHEE | AMXFE 4 19 24
2| FHARE | ERFEkR 2| 13 12
3| BAKE | BAXZE 40 14 8
4| KB | BA%KE 2( 7 7
5| EEME | ABKK 4 11 6
6| HHFTE | kEXE 40 14 2
O2#gy—4
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